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1.
1.1.

Specification Review

Stage 1000 Planning

Issue [1001] 3. Functional Requirements
Accept/Reject Accept
Description Timer2| ‘SHA 7| 50| O|F S&otA| gh=Ct
StopWatch?| ‘SiA|'E ‘Z27|3H' 2 H320{ 0|F E0{S2 Y& S L=0{oFe
Alarme| ‘27F, ‘ad' 7|58 2424 4d", ‘27|32 2 BIF0] Yt RA[oOoFE
0|F Lt2&= MueBeep &2 24
Co-respond functional Requirements®| MuteBeep &7}
Zt2to| 80 Yast
Issue [1001] 4. Non-Functional Requirements
Accept/Reject Reject
Description Latency 2| 7|&0| H&5t2| Rt
7|20| Hetetz| ofn, SHot 220[ QUCt
Co-respond Non-Functional Requirements2 functionalstA| ¢t7| 20f| 4|4 0| A|
Or2740| YA CHat £2|3H=1000plan0| A A§Zkst 2|7} ofL| 2t HSH 42|35t
L7t A2, non-functional2 7HEH0|| 7| 5H o2 TR AFSHO| OfH JHRIE =
2| &kt HER HAlshES
=MsH £20] Tt SH=E22 0|H projectOi| A eraborat|on phaseZ} 9101
client driven & 2942 LSt iterationstH| RISt 25t 7(0f YT EE2
Issue [1003] 1. Functional Requirements (rev. 1001)
Accept/Reject Accept
Description Timekeeping : ‘Al')&', 2" #EFOofL2p ¢ &' )Y & 20| A oiCt
O|F AHOIM AlarmE ‘271'Sh= 7|2 =IO AA| QT
Co-respond o 801 £ 4, Alarm3 7t 7|5 AR
Issue [1003] 2. Functional Requirements Table
Accept/Reject Accept
Description Activity 1003 - Define Requirements Of| HAS?i WESS
Mode2t A E 7|50 OtL{7]0f &F 5t R 8.1°0] £[0{0Fet.
Co-respond Mute BeepE S8 A2l Use case= +4
Mute Beep Use case &7}
Issue [1006] Define Business Test Case
Accept/Reject Accept
Description Reset Alarm 0| A Define Business Use Case2| ‘Use cases and categorize’2}
Ct2A Actor?} System22 E|0{US
Co-respond Actorg User2 HE
Issue [1009] Define System Test Case
Accept/Reject Accept




Description Notify finish Timer testOflAd] A Use CaseOflA Z o5t Zdnto| AaMS R 2|5}7]
2I5l Timeroi|M A HZEl AZFE Timer?t 027} T =8 DAL EUS 'S
A%E o' == nxofgt
Co-respond off S Aleh BHY
Issue [1010] Refine Plan
Accept/Reject Accept
Description |Z ProjectOfl A AFESIHE O] Joi2 59
Co-respond AR LHTAIAZ
1.2. Stage 2030 Analysis
Issue [2031] Use Case 1
Accept/Reject Accept
Description [ Set Timer®| F%, BFZ[8F HAMO{A FHA Al A& M 222 0|sste 7|
HAR|0F [Use Case 1]& &S CHE Set(11, 23)2] ER0le i 7]s0|
YAIZ[O] U] eiCt
Co-respond g HA 2|2 o|sot= & 27t
Issue [2031] Use Case 3
Accept/Reject Accept
Description ‘EIO|HE &3t A|ZICFet Z2 Ofjofst BN S “HH (0] e EO|HE =2 14
LAAIZICE QF ZH0] Z}M|5| 2 sOFet.
0|2} ¢ A|5t0] Use case 5, Use case 8 L5t ATt MFOZ £ TR
Co-respond 2435t 5t0] EFO|HE 2 124 LUAAZICE 3
0|% C}2 Use case SYUSHH 43
Issue [2031] Use Case 4
Accept/Reject Accept
Description Pre-RequisitesOf| ‘TimerZt ZZ|Z|0] QLOOF BT 7t F2H=|O{QUS
Use case 12 CEEX|, OpR|8f 2FAQ1 A A|A Q] AEHZt Timer AE|Z SO0H2CH’
7t =20 9le
Use case 11 17 23 27H0|| = SUSHAH £
Co-respond FHRET BLYA JMRER SO0I=ZE AlHCRE 3
CH2 Use case® SYUHA &4
Issue [2031] Use Case 5
Accept/Reject Accept
Description ‘EIO| 7} Qt= | 'S ‘EFO|D] Z10] 00| =™ 1} ZH0| ZpM|St 2| Zte= HE
‘2. (S) Use Case 32| EIO|HIt 124 ZAE= T2 2
Z7t&|OfOF StCt
Co-respond

[ssue

A|AZICE 2t
Eto|T{of £(0] 00| =|B

= gdeE

o2 FHH2Z FA|
oy ZE 0t

[2031] Use Case 6




Accept/Reject Accept
Description Pre-Requisitesoi| C+2 Timer Use CaseSBfE Ct22| O] Use Case0f| A2t &2y
AlAlE Timer AE{O{OF ST 7t F2IE[Of AF
Co-respond Late| AlSH HEY
Issue [2031] Use Case 8
Accept/Reject Accept
Description AERR|E 2/t ottt E AR S 14 STHAIZICE 2F 20| ZbM|TH 42
wez HE
Co-respond SHEFARE B Y
S
Issue [2031] Use Case 15
Accept/Reject Accept
Description ‘EfO|HV} OtEc|H'S LTt HAYA|ZHO] Uz|otH u 20| NSt HFe 2 HY
Co-respond SHEARR B
S
Issue [2031] Use Case 23
Accept/Reject Accept
Description Activity 1006 4.3. Describe Use CasesOf| 25l ‘1z 0|A0|2t= 20| CHst
0| §2f Use case 230|M BEH &= F2f £/0/US
Co-respond 1006011 A ”Zﬂ CESH 12 0|4k 2H0| M| =2|& ActivateOf Ol 2|7t
ZoUZ
Issue [2031] Use Case 26
Accept/Reject Accept
Description Activity 1006 - 4.3 Describe Use Cases Off A& UZ| %H ‘Beep 2219 A7t
A LT}
Co-respond Sl Areh AR
Issue [2033] Define Domain Model
Accept/Reject Reject
Description Tic counterd]| sHEat= A = ©Hl2tH, Alarm2} Interval Timer= Tic Counter2}
Refer to2tA|7} OfL|A| &
Co-respond Tic counter = A|2te| HEE 71X 1= A 0| OtL|2} Tic counter 2l =
AARe Tic 8 S718t AT AU &, 27 7|s22 1tic2 122
Ho|E 5121 3 A|B Interval Timer2t AlarmO| ZHE 29l Tic counterg 7tA| 11
QU= 40| OfL{2} StLtL| Tic counterOi| A & THA QI A|Z2HS Al 4tsto] BHE S
£ Domain model2 object & EH3t= THA0|7] & SAHO| A Domain
Model0i| CHal o~ 2 5t2| oot & Zd0[at TEret
Issue [2035] 1. Set Time
Accept/Reject Accept/Reject
Description IncreaseDataE SystemOi|A] Bt HF A|ZHO]| Clsl ‘loadTime' & Response
i oFet

Loop?| Z710| [SaveTimeEvent |= True]7t Ot!, [SaveTimeEvent != True &&
quitEvent |= True] 7} | 0{0OFat




quitEvent == True & [ User0j|A| System2 2 exitEditModeE S 5tH,
SystemOllA &= changeMode®t 20| 3tHE B F= 7|50| 22/%/0f
Tl &|0foFSt
e 2252 4,11,12,17,23,24 Sequence Diagram Ol M= SYatH LHE
Co-respond 7tE0] sfiY st RE2 SEetA0| el
A AEIOM responsediF= 22 HE A Q! 4 20| M interaction
DiagramOflA 2718 oil0{ = Q| =0{ = 42 gis
S 20302 analysis EHA 0] 7| | 20f| HEHAIOIM oS W2Zst=AE Systeme
black box2 E2Z| &1 2 S5t= A
LI Z|= 203001 M =23t
Issue [2035] 2. Set Hour Format
Accept/Reject Reject
Description System UserOf| 2| A2 5 gt ™ 4= Z0to|| Cist HAE SHHS CHA| Userof| |
XS5l ==0{0F 5t=0|, O|2{ 5t F=20| H2t=|0] US
219 23 = 20350] U= 2E THY staE O S0 FZ0| 4AHE
Co-respond A ARIOA responsediF= SE2 JHE A2 40| A interaction
DiagramOflA 2718 il F0{ = Q| =0{ = 42 gis
LI Z|= 20300 83t
Issue [2035] 7. Reset Timer
Accept/Reject Recect
Description System L{E20Il A ResetEl Timer2| 2t2 user0i|Zl 20{F= SR} 42te|of
A
0[=+10,18,240M = 23
Co-respond AARIOIM responsedi = S22 HE A2 20| A interaction
DiagramOflA 2718 sl F0{ = sl 0| = o2 gi2
Issue [2035] 11. Set Alarm
Accept/Reject Reject
Description p9OilM AZ5HRAR, Activity 20310f L= Alternative Course of EventsLt
Exceptional Course of Events7t &2f| ActivitydlM =2t=|0f Q1= 30| Bk2g|,
12 ‘Set Alarm’e| Z20ll= Exceptional Course of EventsZ} £/0] QI0{A{ aty
OFA 7HAH &
Co-respond exceptional course of Events= 42| boundary 7t Ot S22 boundary Of| A
Hogs Qe AT BA[GHAM OV £2HE0] EY 4= S SHA|C
quitWithOutSavingZ2 7|52 Exceptional course of eventse= 713|422
HAISH] =gt
Issue [2035] 12. Reset Alram
Accept/Reject Accept
Description exitEditMode O|Z0| resetAlarm siE £ 22 | AA|7|= 20| 2§
Co-respond SN 220 guard 7t 51 disable 3t 88 27t
Issue [2035] 13. Enable Alarm
Accept/Reject

Reject




Description enableAlarm 23 A| SystemOf|lA| 2}HO|| L2t 4EE Enable AEiZ HA|t=
S B 27| 0j0Fet
Ol=202T0Mc &2 272
Co-respond A ARIO M responsesiF= F22 HE2Q 40| M interaction
DiagramOflA| 27t& slil0{ & Q=0 = A&t gls
Issue [2035] 14. Disable Alarm
Accept/Reject Reject
Description disableAlarm 22 A| SystemOi|A 2}HO0|| 22 AEHE disable AE{Z HA|ot=
StAtBI 27t 0{0F &
Co-respond A ARIOIA responsedi = £&2 JHE A2l 0| A interaction
DiagramOflA 2718 0| = Q| =0{ = 42 gis
Issue [2035] 17. Set D-day
Accept/Reject Accept/Reject
Description IncreaseDataE SystemOi|A| BFo™ HHR A|ZH0]| Cial ‘loadTime 2 Response
St ot
Loop2| Z710| [SaveTimeEvent != True]7t Ot, [SaveTimeEvent != True &&
quitEvent = True]7t E|0{O}&t
quitEvent == True & [f User®{|A System2Z exitEditModeE 2 2I5tH,
SystemO|M = changeMode2t 20| 3tHZ B F= 7|s0| 220
T OfoFet
Co-respond K| 2B0|| M responsediit= F22 7HE Al 40| A interaction
DiagramOflA 2715 sl 0{ = Ot =0{ = 42 gis
S guard 27t
Issue [2035] 23. Set Ineterval Timer
Accept/Reject Accept
Description Ct2 set &4+S0l= gle, BRIt 8l Loop 71240| 2, =2|& ez gt
SHEEtE CHE seterate| &S SHR22 A
Co-respond SHE AR AFA|
Issue [2035] 27. Set Mode
Accept/Reject Accept
Description off FALSt =2t
Co-respond off e Abek 27t
Issue [2036]
Accept/Reject Accept
Description exitEidtMode +&t
Co-respond FEE AR 27}
Issue [2036] changeCursor

Accept/Reject

Accept




Description d-day?| 2% d, &, &' =22 HAMQ| /Z|E U=, siiE 4EO| F2=[0]
ol
A2
Co-respond FEE AR 27t
Issue [2036] saveTime
Accept/Reject Accept
Description R 227l £2t=|0] /UZ
‘Post-conditions’ 2f0| &i8 A< ,OperationOfCt ES 9HAl0| LU 52| oS
Co-respond FetEl At 271 +4E
Issue [2036] muteBeep
Accept/Reject Accept
Description R7.47t0I R7.322 £
Co-respond R8.1Z2 &%
Issue [2038] Refine System Test Case
Accept/Reject Accept
Description 7|2 Q7 AFROfl 0], '20-3 1 A|ZTUACH St A = & A o2
2|7t & & =2] testE 27t
27-2'2F HAISI0, 571 0| &2| 7|5 SR el 02| X2| W Eot 27t
Co-respond O A O R test case 24
Issue [2038] Refine System Test Case
Accept/Reject Reject
Description Activity 20402 €] Lt2+= Hold”7|s0| 2710 T2t i 7| s HASH Test
Case 27}
Co-respond HEO| 25t 222 projecte| =0210| ot




1.3. Stage 2040 Design

Issue [2041] Use Case 11
Accept/Reject Accept
Description (6)2 CHES F2= 70|22 7740 (2)F & (5)7HA| 7} =|0{0Fstl, Use
Case 11 49| dHS LY27| Mt (2)~(5)2 s = 0{0F &
Co-respond Exceptional Courses of EventOllA| CHES F2& F&22 A|2lsty, CHE Use
Case2to| Yatd2 L=,
Issue

[2041] Use Case 12

Accept/Reject Accept
Description (4= CHES F2&= 70|22 1740| (2)FH (3)7HX|7t £|0{0F 5t11, Use
Case 12t 49| UM L=27| aiMete (2)~(3)22 4 (00 &,
Co-respond Exceptional Courses of EventOiM CHES F2&= 22 A|2/5t1, T2 Use
Case2to| Yadg2 U=,
Issue [2041] Use Case 16
Accept/Reject Accept
Description e 752 otLt2 FA| L1, 1. (A): DHES 2Lt -> 2.(5): LS €&

AFB O] HOjZ T 9f 20| User} Lt 3/0Fat.

Co-respond Y 7s2 F UELE L&,
Issue [2041] Use Case 17
Accept/Reject Accept/Reject
Description 1. (2)~(9) 70N CHES =2 (19)2 7t=2|0f| TiE 6 27} Fatel.

2. Exceptional Courses of EventsOllA{ (2)~(9) #3t OfL|2t
(11)~(18)0llX= DE Z7 +E ZRE Z7Ial0f &
3. Activity 20312 H| 05t (9)2F (18)0|M AHES F2T CHA| H A7t
HE12 0|Fst= 7|s0| Fat.
4, 2. .CHEZ F2U (19)2Z 0|88t ) 2.CHES F2H 20022
O|S¢tct’ 2 £3£|0{0f it
5. Alternative Course of Events OflA (2)2+ (11)2F Z-2 SystemZ0{|A{2]
Jle2 ZEtE Tart eict
Co-respond 1, 4. (2)~(18) #ZHOIM CHESZ F2H (20)22 O|FICt L BF
2.(2)~(18) #ZHo| M DHEEZ 27 +2H H{AL[Z| 1l D-day ZEZ
SOrHCH B3
1)~(18): DHES =2|M 2)2 O|Sst= WS BN
9| 7| 50|Hete A0 H| BO0i& AEHO M EE] &
Alternative Course EventsO|7| T20] 2chZ B3

3.(1
RPN ES- 24t

Issue [2041] Use Case 18
Accept/Reject Accpet
Description 27|38} 40| RadIz|of| CYEt A=0] QICt.
Co-respond D-dayQ| ZtS A A2 Z7|3f6llFE A2 HE




Issue [2041] Use Case 26
Accept/Reject Accept
Description OFZ|9f 2O CHEZ F28 2 2E2 S07H= 480| A3 UR| Lt
Co-respond OpR| 2 2EAT TimeKeeping2 2 CHA| E07H= Z4E Alternative courses of
Eventsof &7t
Issue [2041] Use Case 27
Accept/Reject Accept
Description 2. AHES 29 (3)22 SOZICt 7} (14)7} Ol (13)01| A 243HA{OF BHCY,
Co-respond (12)0M AHES E31S T M7t TimerZ 0| Sot=S 3
Issue [2044] Interaction Diagram 1
Accept/Reject Reject
Description exitEditMode 0| AFZZ}0{|7| showTime siF= SHIEIF =2t 0f
US. O|l= ‘4. Set Timer, ‘11. Set Alarm’, ‘12.Reset Alarm’, ‘17. Set
D-day’, 23. Set Interval Timer’, ‘24. Reset Interval Timer, 27. Set
Mode' OflME 22 232
Co-respond A ARIO|A responsedtit= S22 JHE A2 A ZH0[ A 20| HAE Q6| E
Use CaseOllA| Object?t Interaction2 &&0| HA|E|UCtD TESI0 H2| QHS.
Issue [2044] Interaction Diagram 4
Accept/Reject Accept
Description 3 SHAH 0|5 =&
Co-respond WatchTimerOlA WatchSystemQ 2 ZEE UAHZCI= Z4ES HA|5H7| 2510
SHIH 0|5 MY
Issue [2044] Interaction Diagram 6
Accept/Reject disAccpet
Description UM AGE U ZAQIEIO|D 7} 25 HEfY TS| 2 MAP7L F2E| 06U,
‘7. Reset Timer®jAM 2{H ‘isPaused == false’2t 22 70| T
O|= ‘8. Activate Stopwatch’, ‘9.Pause Stopwatch’, “13.Enable Alarm’,

‘14 Disable Alarm’, ‘21.Enable Interval Time’, 22 .Disable Interval Time’
oMz Z2 27

SEY Tt 22 guarde UserZt UIZ Q1 S1Z 0l A THTHOICHD 442t

t2tA Interaction diagramOflAdl EA|SHR| Y-S

Co-respond sHdst




1.4. Stage 2050 Implementation

1.4.1. issue #1: & H =40| &AM (Accept)
4. Set Timer
seq )

[saveTimbrEvent==True] 16 : buttonC

15 - saveTimer

T

aamamasm——

o> 158, 168 SAEO| & LH0|9t A Y

% : talWatch :WatchSystem ‘WatchTimer

User: Actor

opt

[Currenth odg == WatchTi mer]

1 : buttonCHold

- 2 - enterEditMode

A §

3 : loadTimer

E _________________________________________ SRR D= 4 N
= 6 : showDigit(content) : 5 TimerContent :

17 - saveTimer({data)

loop (19 J
[saveTimgrEvent == True && quieEventl=True]
opt i
[|ncr€?aseButtonEvent == gI[ILl![%]I'IB N
o] 8 - increaseData -
---------------------------------------- < merContent T T
10 - showDigit{content) : )
opt : H
h i dCi Event == Ti ;
[c an:ge ursorEvent z= True] o :
- 12 - changeCursor o
........................................ | —
14 : selectCursor{cursor) : 13 : movedCursor :
seq :
TimerEvent==Ti : i
[saveTimerEven rue] 15 - buttonC - 16 - saveTimer L
L '|—i 1

a uitEverét




1.4.2. issue#2: operation 2% 7|& (Accept)

26. Change Mode

% :DigitalWateh ‘WatchSystem ModeManager

User: Actor

1 : button/\ e 2 changehlocds

r

3 : getNestMode

4 selectedMode

i & ahowMode(modes)

=> “1: buttonA'E '1: buttonC'2 $=48l0Fet

% :DigitalWatch :WatchSystem :ModeManager

User: Actor

1: buttonC 2 : changeMode

k

kA 4§

3 : getNextMode

e

e e et eaaaas : 4 : selectedMode

5 nextMode

T8 howhiodeimodes)



1.5. Stage 2060 Unit Test & System Test
Unit test 2E S}OIZ0] @ 2A5 LHASI 4.
@Test
exitEditMode(){

;. setCurrentMode(
s.enterEditMode()

vs.exitEditMode()
assertFalse(ws.getEdited());
assertEquals(ws.getCurrentDdayPage( )

2. Category-partition Testing
2.1. Testing Result

Testing Num Result Description

Test03-1011.2011.3013 Fail S VAIRE 12A19] A[ZH BAIZF AHE|R| §F=C
Test04-1011.2012.3121
Test18-1013.2034.3121
Test30-1015.2065.3121
Test39-1017.2054.3121
Test50-1019.2083.3121
Test59-1021.2104.3121
Test05-1011.2012.3122
Test19-1013.2034.3122
Test23-1015.2061.3061

Fail ChS 2E 0|3 Al, B|Z30| 22|2| g=Ct.

[

Test25-1015.2063.3061
Test28 - 1015.2064.3061
Test31-1015.2065.3122 Fail DC A S CIA| BEZ B4 A|, 27 FAIZ|R]| E=Ct.
Test40-1017.2054.3122
Test41-1018
Test42 - 1019.2081.3081
Test51-1019.2083.3122
Test60 - 1021.2104.3122




2.2.

Countermeasure

Testing Num

A/R

Description

Test03-1011.2011.3013
Test04-1011.2012.3121
Test18-1013.2034.3121
Test30-1015.2065.3121
Test39-1017.2054.3121
Test50-1019.2083.3121
Test59 - 1021.2104.3121
Test05-1011.2012.3122
Test19-1013.2034.3122
Test23-1015.2061.3061
Test25-1015.2063.3061
Test28 - 1015.2064.3061
Test31-1015.2065.3122
Test40-1017.2054.3122
Test41-1018
Test42 - 1019.2081.3081
Test51-1019.2083.3122
Test60-1021.2104.3122

Retracted

Accepted

Rejected

AZEQO| 23S EoA 3|3t

ool

7|50]| Destroyed=| 2
v

CA| Created &2 2
FA| &|2| ¢b= Z40| OtEEt

3. Brute Force Testing

3.1. Testing Result
Testing Num Result Description Test Output
A1 2ot otL2t 2E 20| 0|45t
: o2 HiR| D Ast= AZH O
= ‘EE 19| 242 99K L 3 A AASH =% =
" el EEISUE ORAIATEET  gorspact. o1 e gol ot
CH= 2t0| ZH0| HHR)
. . QA 1AIEE 12A|9] A|ZHEHA|Z}
- OH HAHO| | =2Z| &olstC]
1-2 Fail O HHO| & =2| =elsiTt W2 O}
EI0|H 44 & 2 ﬁ%‘ﬁf(ﬂ ElO|H 30z 43 & 2E& HEoI0
2-1 Fail EIO|HE A|2|5tH L&o| S2[E=2| EIO|HE A 2|sil = 302 F0f &&O|
EHoIstet. 23
E otzto| 22|10
Efo|B7} 00| &0 2tato| 22|71 tO|B7} 00| £|0f &gfo| S2|12,
. - = LS H2H HYTHEIO|H A2t 2
2-2 Fail H2A| & F BE UKRIER)0

022 27|53} g|=2| It}

O

FAl 2RI 2ICH= LiE0] AHof Lot

(o] X=X
=

£Q
N



FY2E0M DHES =2l

TJ 20k E2 +=H ;
: e l ;Etﬂ = enabled® 20| disabled &Ef2
3-1 Fail enabledE! Z&0| disabled <EHZ HITIZ| SFCC} (00A|00500% AE|2
HEZ|=2] 2l L= Y=o
EnO| 243t
TYEE HZ2 E DHES =9 CHES s #3R2EHE =
3-2 Fail 02 = g|Mletl CHESZ XstH DHES F2H 022 2|Al =Lt
&erol 2|M £[=2| =elstct (AT CHE)
=1 EototL|et 2 Zr0| O] 4t
. _ 2t 2 "R 11 ¥5t= D-day HAEO|
5 ‘He 172 ggo|Ato 2 M 5T uA =T =
o el AETUSONISSSEEN  gisaact (ol wuE ol ot
CHE 50| Z0] HHE)
42 Fail TEUS AIAUEC oMoz ZEYUO| A Y Bt 0| = MEH
A5t 7tsotH S 2= BA|ECH
22| o|A 0|ANH Q| d-day=
= ail (B2 - Al2{Y)0] 9999t 4E£1C|>I Olroﬂ(;99(2kc|)|o;+allgrday\_
 a== g e
Helzl==¢gh)
A2dat T2 MY Al 290 F30| Aj2o|11 SEYURIZR|
4-4 Fail Al20o|1 ZEURIR| LE2E[E=2| H5t7| OfHLt (S2EHL dEs=
SOl HHE &+ eU8)
Al2dat 2= 0| 21, GRE
45 Fail s 0|52 Y5 E2 d-dayOiA= 2t0{ 20| 2 LIEFLIZ|2E
d-dayet % H7|7t & =3 % Ol A= ‘done’2 2 BA|EICH
OISt
: SEEHRC A2 Remain-day R _
- = b Eole SIC
6 Pl guoswmazoamesy,  Smo 0 S8 BRI
El0|H 44 & ZE#HE 5104 ElO|H 302 44 & 2E#F510]
5-1 Fail EIO|HE A|2|5tH 2&to| 22|=4| EIO|HE A2l 302 F0f €20
SHOISHCY, =zt
+YEE HZ2 T DHES =9 CHES s #3dR2EHE =
5-2 Fail 022 2|Mlst CHESRZ X¥otH DHES F2H 022 2|M =0}
erol 2|l £[=X] =elstey, (AT CHE)
. DC HA A| Beep £2|7} LE=Z] N
_ A LIZ| or=r]
6-1 Fail stoIsict Beep &2(7t LER| QH=Ct
3.2. Countermeasure
Testing Num A/R Description
1-1 Accepted HZ 10| 990|M 27tet AR 192 HIPE2 £ 2 Use case £
1-2 Retracted AOEQI0 AS EloM 23
2-1 Accepted T FA 2| 2t0](Destroy)Oll A 2Hlist RE 4| off 2
2-2 Accepted 2MAHM Z7HUse case, Notify Finish Timer)
3-1 Accepted I 2A aiZ2
3-2 Accepted IE 24 &
4-1 Accepted = 10| 990||A 2718t AR 192 HIHEZE 47 L Use case 3
4-2 Accepted Ul Storyboard(Err EA|) &7}



4-3
4-4
4-5

5-1
5-2
6-1

Accepted

Rejected
Accepted

Rejected
Accepted
Accepted
Accepted

Ul Storyboard(d-OF EA|) 27t
=AY Ao SiZ

Ul Storyboard(done BA[) 27}
715 80| 0|0 £[0fU= B2

Tl 2Mdef 240[(Destroy)oflM 2ot IE 24| 52

ol




